When | have a given series, such as following:
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| can easily use from Extrapolation methods to accelerate it’s convergence.

But when | want to accelerate convergence of equivalent series of an infinite integral,l don’t know how
(and where of my code) use from extrapolation methods.

As an example,please consider following infinite integral:
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At first,we equal it with a series:
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where

| can solve the integral within sub-intervals, but | don’t know how use from extrapolation methods to
accelerate convergence of | series.



